
SAP ABAP table TQ07M {QM: Inventory postings with usage decision}

TQ07M

MANDT [CLNT (3)]

FELDNAME [CHAR (10)]

HERKUNFT [CHAR (2)]

BWARTQBST [CHAR (3)]

BWARTFREI [CHAR (3)]

BWARTWESP [CHAR (3)]

T000

MANDT [CLNT (3)]
 TQ07M-MANDT = T000-MANDT 

0..N

0..N T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 TQ07M-BWARTFREI = T156-BWART 
0..N

{0,1}  TQ07M-BWARTQBST = T156-BWART 
0..N{0,1}  TQ07M-BWARTWESP = T156-BWART 
0..N{0,1}

TQ31

HERKUNFT [CHAR (2)]

 TQ07M-HERKUNFT = TQ31-HERKUNFT 

0..N

0..N


